& CURT

INSTALLATION MANUAL 32002

Level of Difficulty

Easy

Installation difficulty levels are based on time
and effort involved and may vary depending on
the installer level of expertise, condition of the
vehicle and proper tools and equipment.

Parts List
Iltem Qty Description

1 Shank, 2"

Grip Step™ board
Adapter plate

End cap

Support brace
Carriage bolt, 5/16”
Flat washer, 5/16”
Flange nut, 5/16”
Self-drilling screw

O 0 N o g B~ W N =
B~ 0 0 NN —= =

Product Photo

Tools Required

Ratchet Drill

Socket, 1/2" Phillips head drill bit
Wrench, 1/2" --

Assembly

NOTICE

Before you begin installation, read all instructions thoroughly.
Proper tools will improve the quality of installation and reduce the time required.

Periodic inspection of your product should be performed
to ensure all hardware and / or components remain secure.

Attach the end caps (#4) to the Grip Step™ board (#2),

using the four self-drilling screws (#9).

Using four carriage bolts (#6), flat washers (#7) and
flange nuts (#8), attach the adapter plate (#3) to the 2" shank (#1).

Slide the support braces (#5) into the Grip Step™ board and attach
to the adapter plate using four carriage bolts, washers and nuts.

CURT
e GROUP

Learn more about trailer hitches on our website.


https://www.carid.com/curt/
https://www.carid.com/trailer-hitches.html



